Chapter 9 Day 2:

Today we will be studying Vertex Form of a

parabola. \/ h)2 _|_Z?

y=a(x>

<__3 L(\ *(h.k) is the vertex

*if a>0, opens up

\./ *if a<0, opens down
>*axis of symmetry is y=h
*minimum or maximum is k




Example: y=5(x+4)*37 U
Identify the vertex: (-4, -'l)
|dentify the axis of symmetry: x = ‘L/

ol
Identify the@r maximum: Y =
1Y

Identify Z)e y-intercept: 7 3 ]
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Example: f(x)=2(x-1)°+3

|dentify the vertex: ( [ } v

Identify the axis of symmetry: x= \ 3

|dentify ther maximum: 9

Identify the y-intercept: ( O, 3—)

Domain: m
> 3
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Example: y=—(x+3)"+4
|dentify the vertex: (-3, - l/)
Identify the axis of symmetry: x =;5

o
Identify the minimum or <
Y

Identify the y-intercept: :

Domain: R L
|

Range: _‘5 é““{




Example: Change from vertex to standard form.

y=3(x+6) 72
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Example: Change from vertex to standard form.
f(x)=-8(x+2)+3
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